ISC 2016 - 24.01.2016

Cat 1: 214 solvers
Problem
(average; # full solution (5); # part solution (0,5-4,5); # wrong solution (0);

# no solution (-))

1) #2 Kovacevic 1. Qb7! (4,77;204;0;9; 1)

Wrong keys: 1. Bc5? 4x

2) #3 Heathcote 1.Bb8! (1,21; 15; 67; 64, 68)

Wrong keys: 1. Kb7? 19x 1. Qc8? 16x 1. Bc7? 12x

missing variations: Rd1 10x, Td4 8x, Rc3 8x, e3 4x, Kc5 4x

3) #4 Smits 1. Be7! (0,60; 4; 39; 43; 128)

Wrong keys/Moves: 1.Kal? 9x, 1.5e4? 4x 19 different wrong key moves
missing variations: Qg4 5x, 2...Se6 5x

only 4 solvers with 5 pts: Murdzia, Mladenovic, Peitl, Wissmann

4) e.g. Minski 1. Bh6! (0,28; 1; 52; 113; 48)

Wrong moves: 1. Be3? 39x, 1. Sd7? 19x, 1. Se6? 18x, 1. Bb2? 18x, 1. Kb4? 12x
1...Rc57? 9x, 3. Bc3? 8x, 3. Be5? 7x

only Zivojin Perovic — 16 years old Serbian solver found complete solution
5) h##5 Chkhetiani a)1. Qhl1 b) 1. Sb1 (1,71; 43; 60; 4; 107)

1 sol: 60 solvers: a) 4 sol. b) 56 sol. - solutions for a: 47, for b: 99

6) S#3 Dunn 1. Sc7! (1,55; 28; 61; 52; 73)

Wrong key: 1. Sb6? 25x

missing variations: Be3 35x, Kb7 16x, a6 7x, Kc7 5x



7) #2 Gvozdjak 1. Bd6! (4,67; 200; 0; 11; 3)

Wrong keys: 1. Bgl? 4x

8) #3 Goumondy 1. Sb3!(2,67; 18; 126; 20; 50)

Wrong keys: 1. Se2? 6x

Missing or wrong variations: Se7 75x, Rd4 57x, cd6 7x, Bc5 1x, Sf2 2x, Sg3 1x
9) #8 Postnikov 1. Bc4! (2,87; 123; 0; 50; 41)

Wrong moves: 4. Rc3? 23x

10) e.g. Petrov 1. €7 (2,20; 43; 111; 18; 42)

Wrong moves: 1. Se8? 9x, 1...Rh3? 5x, 3.Rf8? 15x, 4. Kc4? 18x, 4...Kh8 24x, 8. Bd6? 8x
11) H#3 Jones 1. Sf4/c4 (1,55; 38; 57; 5; 114)

1 sol: 57x (Sf4 44x; c4 13x) sol with Sf4: 82x; with c4: 51x

12) S#7 Stein 1. Ke4! (0,05; 2; 0; 45; 167)

Wrong keys: 17 different wrong keys

only 2 solvers: Oto Mihalco (SVK) and Mikhael Gabeskiria (GEO)



Cat 2 —103 solvers

1) #2 Ellerman 1. Qd7!(2,96; 61; 0; 25; 17)

Wrong keys: 1.Qb77? 6x, 1. Sc7? 6x

2) #2 Hanslik 1. Rf5! (1,75; 36; O; 64; 3)

Wrong keys: 1.Qc4? 38x

3) e.g. Kofman 1. Se7!(1,29; 16; 26; 41; 20)

Wrong moves: 1. Sf4? 27x, 1. Sf8? 7x

4) S#2 Gulaev 1. Rb4! (2,09; 38; 7; 31; 27)

Wrong keys: 1. Rd57? 8x

Missing or wrong variations: ¢5 5x, c6 1x

5) #2 Ellerman 1. Sc6! (1,26; 26; 0; 70; 7)

Wrong keys: 1. Re8? 18x, 1.5d3? 15x, 1. Sg4? 12x, 1. Sc4? 8x

6) #2 Schonholzer 1. Rb7! (2,62; 54; 0; 44; 5)

Wrong keys: 1.Bb7? 18x, 1. Qe2? 7x, 1. Qf2? 4x, 1. Ra7? 4x, 1. Bf2? 3x
7) #3 Makaronez 1. Qh5!(0,97; 16; 7; 54; 26)

Wrong keys: 1. Sf4? 16x, 1.Qh77? 10x, 1. Kg6? 9x, 1.b8Q? 5x, 1. Qh8? 4x
8) H#2 Rice 1. Qg1/Rg2/Rg8/Sh4/sSf8 (2,58; 44; 16; 10; 33)

5 sol: 44x, 4 sol: 7x, 3 sol: 4x, 2 sol: 1x, 1 sol: 4x

Qgl: 46x, Rg2: 55x, Rg8: 57x, Sh4: 53x, Sf8: 55x



Cat 3 —152 solvers

1) #2 Promislo 1. Qf5! (2,34;71;0;75,6)

wrong keys: 1. Qg4? 14x, 1. e6? 13x, 1. Sc3? 10x, 1. Sf4? 10x, 1. Qc8? 8x
2) #2 Ahues 1. Sec5! (1,35;41;0;108;3)

wrong keys: 1. Sdc5? 22x, 1.Sg3? 15x, 1. Sc5? 12x, 1. Sd6? 9x, 1. Sdf2? 9x, 1. Sf2? 8x,
1. Sef2? 6x

3) #3 Gulaev 1. Rb5!(0,90;13;34;72;33)

wrong Keys: 1. Rd5? 12x, 1. Qd5? 11x, 1. Qa8? 8x, 1. Ra5? 7x, 1. e6? 6x
missing or wrong variations: e6 10x, ¢5 9x

4) #3 Sommer 1. Bf5! (0,61;9;28;72;43)

wrong keys: 1. Bc2? 18x, 1. Bd3? 15x, 1. Rc1? 10x, 1. Re5? 6x, 1. d4? 6x
missing or wrong variations: g1S 12x, Ke2 10x

5) #4 Zucker 1. Qg2! (0,03;0;2;96;54)

wrong keys: 1.Qc2? 30x, 1. Sc2? 24x, 1. Sc4? 10x, 1. Sb5? 9x

only Nadezhda Volchikhina (RUS) found the main variation

6) eg Horwitz 1. Ra4+! (1,63;5;91;20;36)

wrong moves: 1. Ra3? 10x, 2. f4? 8x, 2...Qa5? 20x



